Quick Reference to Quantum Field Ver.0.9f
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Fock Space
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Canonical Quantization
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Neutral Scalar Field
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4-dimensional commutation relation
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Quantization of Electro-magnetic Field ( Lorenz gauge 0,4 =0 )
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Polarization Vector of Spin 1 Particle
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Magnetic moment of dirac particle (gyromagnetic ratio)
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Gauge field: iDp(p) =

Dirac field: iSp(p) =
Local Gauge Transformation: scalar field with U(1)
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External Lines

spin 1/2 incoming: u(p, s) or v(p, s) outgoing: @(p,s) or o(p, s)
spin 1 incoming: €,(p, A) outgoing: /,(p, \)
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Vertexes
EM current for charge +e —ieyH
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EW charged current —iﬁ’y“ 3
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Conservation law

Q num\Int.  Strong EM Weak
Isospin [ 0 X X
I3 0 0 X
Parity P 0] 0] X
C-parity C 0 0 X
G-parity G 0 X X




